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AN =S
B AR (U= D)
¢ D2 (FesX D) (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O JIg eI 13,920
23t (aY=sXeEyd) 25,920 28,920 A 3,000
201 Let24d] 8,400 7,560 840
01 At 22l 8,400 7,560 840
O sled=2Xgd dRFIAS 8,400
202 O4dl 17,520 21,360 A 3,840
01 SLHAYI 17,520 21,360 A 3,840
O Jle 2UWdAbl 17,520
Jl2Zdl(Le=X) 14,760 15,600 A 840
201 LBt2d| 4,200 5,040 A 840
01 At 22l 4,200 5,040 A 840
O LsSIgY dRFUSH 4,200,000& 4,200
202 4l 10,560 10,560 0
01 =L 4 1l 10,560 10,560 0
O Jle 2WdH 10,560, 000& 10,560
JI2BHI(EEAEE) 20,040 11,400 8,640
201 £B-2dH| 5,880 2,520 3,360
01 At 22l 5,880 2,520 3,360
O SEHAEHEYY d2FAS2HI(9Y)
5,880,000 5,880
202 o4l 14,160 8,880 5,280
01 = LH Yl 14,160 8,880 5,280
O Jle 2Uubl(5¥) 14,160, 000& 14,160
JI2ZH (A8 X&) 20,040 15,600 4,440
201 LBr2EH| 5,880 5,040 840
01 At 2t 2l 5,880 5,040 840
O HEXJAEY dRF=US&H  5,880,000& 5,880
202 odl 14,160 10,560 3,600
01 = LH o4 1l 14,160 10,560 3,600
O JI& 2l 14,160,000 14,160
Hegs(=e=xmn) 1,523,939 1,606,708 AB2,769
HEHHKE 1,523,939 1,606,708 AB2,769
WEAHAHX S (FU=EX 1) 1,523,939 1,606,708 A82,769
701 JIEISI HEES 1,523,939 1,606,708 AB2,769
01 JIEtSIHE &3 1,523,939 1,606,708 A 82,769
O ASSHAILELESH HES
1,523,939, 000& 1,523,939

_69_




